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NIMCET-6 SOLUTION

1. (DJ A =1~PA)=1-03

| y

=07
KBY=1-P(H=1-05
=05
PIANRY=PA-PAN S
=07-03=04
= PLAUBI=PA+ B -P(AN B

=07+ D5-0.4
) = 0.8
3 »
Now, P ( _B ) _Plsntav 8l
\ Ao rfriAwm
_PUBAA LB~ BY
PlAV 8
_PEAA _ o 3 :;
PAUB) 08 8
2. () Equation of angle bisectors of ax® + 20y + By =0 is
-y
da=h h

(GH

= Anqle mwrwr\ u(

Nt O+ cos” O < 2y 1an 0 - Vs 8 =0is

- ¥ - v____ Xy
taif O+ cos” 0+ sind 0 tan O
X ‘,;‘ Y
= —_—— (0 =m:
s 0 wan 4
= L3h1a0 A ?: (i)
4 va3
AS ¥ = mx sanqtv Fx] (1), s0
¥ =t mx’
I
1= ai
= -=—
A V3
= Vi=\anl =am
= V3 +4m= 3
Let Aix) = [Hx) & A= 1g(8) = g(— )]
= A= x) =1f— %) + HN) Lg (= %) = q(x)]
==1(x)+ R=x0y(x) = y (= x)]
= — fi(xy
= NN IS dn oid tunction
LR
= j Wx)dx =0
e
4. () ot uyfcora,) ., (oot a,) =)
= (o apeos u ) {ras o)
=i {sine) o s ) {i)

5. ()

(h)

LHS and RHS will be maximum with equal values

.4
i W =u=..=a =
Bl
T ®
As, 004 — = sin—
L
+ 4

= Maximum value of (cos «,) (cos L+ ) I

()Lg)-

fLos @)

[—l' ' numes = '1‘
&) iz

8 Cc

[f M is o point inside the A ABC then perimeter o
A ABC = porimeter ol A MBC

= Ab+ AC + BC >MIE+ MO + BC

= AB+ AC>MB 4+ MC

X W
e line Lowill be — + : =11 sy=coordinate system
o )

Whoen  the axes are tatated by an angle ' in
anti-clockwise direcion

= cos ey sin @)
vi=—wsinb+ ycos B it
= X = xcos B-pysinB
v=x%n0+y'cos O
N oos 0 —y'sin B x'sin v yoos O
= Linejs - et e s oy Ve - e s

=1

i > b
'[cm 0 sin U] | cos @ sin OJ
= X +¥') —— ']
i (4] = |
= Intercept p and § are
, b ab ( )
= - o ] = e ) qiven
heos B+ asqu acos 0= beinh 4
dsinf' 9+ b cos’ B ]
= 1 1 +a o0 WS 0] &4 p
g dn' an
1 1
e
B b
2. (b) a, bare roows ol X+ pxr1=0
= a+ b=—pab=1 (Y]
Also, 1 and d aro roots of ¥ 4 ax+ 1 =0
- i—d=-qed=1 {ii)
Now, E=(a—c (b= (o~ dI{b+
={a=dth+s b -ila+ '
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8 (a)

9. (b

= e

10. ()

= (ah —cd = e 4 ad) lab - ac + bd — oy ab = cdh
={ad — b)) Lbd = ach
=ab(d" + %) —edtd + K
=ab {lc+ ) = 2ed} —od Ua+ D) —2ab)
=tqg ~2-p' -2
=q° - p'
fHx)+ Al=-x)=¢

(1
A |
2001,

4
fI ]* !
2001

t_‘llK)()'+ L

{zuuo* .
= — o =2
2001
(19499 )
—— l=2
20017 )

1000 71001
L2001/ 2001J
which are 1000 pairs in all
' g s \
S0, (t—— |+ fl — 1+ ..

2001/ L2001/

=2

.r[é¥9]=umu
2001

Since, & b and ¢ ire in AP
b~ 7

2=+ ¢ N

Now, we take

Vrellu _u+vln B

=g o = ¢

Ve, 10 o &
o't [trom Eq. (1)

_—-_((-"" o ]{

14 Ul
.

c und &' © are in GE

o P are roors of 87 4 ¥+ 1=0

a+P=-1, ap=1
a=w f=w
a'=of =w' =p
(1"4'[3? =u+pf=-1
@B =ap=1
Hence, 1he eguation remains same,

1. @) (x4 DX+ 4 ix+ 9 ... (x + 400)

={x+ U(x+2){x + 3)h..(x + 200

So, coefficient of ' will be

. : ) ) - 1

FarZ 4.+ 207 {-.'Xn- o iien b "]
th

20 x21 x4
= __‘}_‘_quxx';o-zs70

G 1 1 \
12. (5 =036 log, .., - |
= 0,38 log, . i : : {: 0.36 log, .1 /2
ll-:i )
=03610q . 1/2
036 .
- log . (1/ 2
2 Gy
s ’
=036x-= .18
<
13, (0} o Hy, Heoo, H, binHP
| | 11
v s e iy AR
a M H, H, b
p 2
= ~==—t+(n+d-1d
hooa
1 1
= -—=[n+d
0 o

it
-j’\ (1)

15. (d)

1.5 a
n+1
1 a-b
+ —
a  abin+1)
_bln+N+u-0
Jbin+ 1)
Edlln+ 1)

I, =
bor+ a

Hy  bnxb
] bn+a

=

Using componendo and dividendo, woe got
Hiva bn+b+bn+a

H-a bn+ b= bn-a
d= b+ 2bn 3
e ok
b-a
RIS e i D
s b L abin+1)
_Aain+ R-a+ b
ab(n+ 1)
ab(n+1)
- b
* an+ b
Ho  an+a
= _— —
h an+b
Using componenda and dividendo, we get
H,+b _an+a+ant b
H, ~-b an+ua=-an-1Dn
a+ b+ Z2an
B e (i)
a— b
On adding Eqgs. (i) and (i),
. Hi+a H +b a+b+2bn s+ b+ 2an
M, -a H,-b  b-a h—-u
anf{b —
o SRR =20
b-a

Given equation, 2log, (4 + log, (@0 = 3log (=0

9 9 1
. |
2 Jogis] s b m—— e~ |5
logx  Iogatlogy  Z2loga+ lng v |
Ler logx =y and loqu=c¢
2 1 3
+ -— % w0
L v+
- 2y + Ay + 200+ yly + 20 + vy + 0y =0
= By + 1y + 4c =0
lex J121¢ - 860
s = S Dot
12
_=1llexbe -4c ¢
12 3 2
-4
= lKpx= —T foga
1
and g N == loga
2
= =g VN g

Le, two solutions are there.

Sum of the diges of & number divisible by 9 5 alan
chivisible by &

Now, sum of digits 0, 1, 2, 3,
by Q.

, 4545 which )s divis:bl

n

TA
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So,'lwo dign's uu;‘qr 10 dl_q'il\- ﬂ;va}n v:;ll ?‘O‘OT:H? gl 20. (b) Number of cases for sum '5' =4
SUCh o Way that thewa sum should also be divisible by ! i . e
So, omitted digits will be (0, 9), (1, B). (2, 7). (3. 6) and PRI caaie Tor s Ve PR
(4, 5) In the first case, there will be B! numbers divisible Probubility of getting sum 5 in one roll = — = —
by & and in the last four cases there will be 7 (7!) ways y . ; 36 9
due to presence of 0. Probability of getting either 5 or 7 in a roll
So, total number of ways =81+ 4 x7(71) = 36 (71) w2 o B,
16. () Last digit of 7% " =7 N 3 18
List digit of 7% ¥ =g =» Probability of getting 5 before ':7
Last digit of 7747 =3 T 30 -1«3-1-4[-]3] k.0
Last digit of 77" =1 & 388 K87 9
I mis4p+ 1, then nshould be 4p + 3 !
So that 7" + 7" is divisible by 5 and vice-versa also. = __9.._; =) x 182
Similarly, it mis 7% "2 then n should be 7% and 1= 8 5 5
vice-versa 1o be divisible by § 18
So. number of ordered pairs 21. () The same letter can be eithes S. T, 1 or A
=4 x(“¢C, x "'C,) = 2500 Probability of required will he
. R B PS)+ P + PU) + PLA)
17-’.' ta) @, b and ¢ aro roots of ¥ .3px «rJq.\-l-(’) -'ix.:f.,.-:ixé,; 2 1.1 2 19
- = “”’“=""“°‘b*"“d;{f]“’ 10 9 10 9 108 10 8 60
1 1 1 3 22, (d) Required probability
- 2 b e ape = P1A) ~ F2R) + P 3R + PAR) +PGR) + PER)
R RO VRTINS TR, N DN R L)
= -+-—+—-=:ﬁ" =-:x---+-XT'.'—_< +—X'I—J—+—XIT—'
b e 5:°10 80 T8 e - RG
Now, centroid of triangle with vertices 1 e 1 “C,
lpl](rl]{rI}l\' eliva B T
x..l, . .b .‘.‘L_I ) b ('5 b CG
\ 13 1 1
1‘1'&1 :—[jﬁr4;+]—#--,:9-l—“l
prbre at pT el o ALS 3 6 14 42 210
g “ 3 e 1 13t 6B
e
{ 6 105 315
18. () Tangent 1o parabola v = 3ax is 23. (c) Volume of paratlelopiped will be
. PN
y‘=mx+-d ’l Al .
, . m Vel 1 =142l <1 > V=FK-4+1
= Tanqgent to " =4x Wll: be . . 0 1l
Vo mx s — Al For minimum valie
m dv
It will be tangent 1o the circle — =K =1=0
e = 3
Il length of perpendicular from (3, 0) will be 3. = A= -;
N,
3+ u
| 4
= j =t =3 fr_‘_‘ - Bh
Lynr 41 d#
" _— e
= 3o + 1 =3myni +1 Vi
= ¢ 4 2 o 2 2 "(\ 6
= am’ + Gm” + 1 qlm‘ (ni + 1) i ‘_:_ _ _:__ >0 {min)
= m= = dor alove y-axis i i 1
\iJ , 2. (1) M= PE=PE =
So. tangent is Xt —— 4‘
V3 1/~N3 PR = ) = PB) = —
= V3y=x+3 1
19. b) T B)mx+2 Now, sum ol two odd numbers, and also suin ol two even
ol e numbers 15 vven, so,
= [x— Ix+ Al=x+2 P (odd, add) = ' (even, oven)
= (x=Jix+J=(x+3 3.8 1.3 10:.8
if X<~-2 orx23 725 0 o i ek e B
and —(x =P (x+D=I(x+2 14 44 168 8
i -2<4x<3 25. (a) TATANAGAR has 9 letters, so number ol ways in which
=3 (x+2(x-4) =0 x<—20r x23 two consecutive letters can be printed will bo 8, out of
G (x+2A(x=-2=0 - which there aro 2 wiuys in which TA can be printed,
it -2<x <3 Similarly, lor CALCUTTA, there are 7 ways of printing
- x==-24,2 o consecutive letters, from which there is only one way

S The number of roors is 3 1o print "TA',

TA Center I. Agarsen Plaza, Near Nai Sarak, Garh Road, Meerut

£3Center Il. Ist Floor, Utsav Complex, Shivaji Road, Near N.A.S. College, Meerut
“Center-lll. IInd Floor, Star Plaza, Begum Bridge Road, Meerut




GUP'TA

CC LA

visit us : www.guptaclasses.com

SE S e-mail: alokgupta9319@gmail.com

A PREMIER INSTITUTE FOR MBA-CAT/MCA/BANK P.O. & SSC ENTRANCE ACADEMY

Hence, required probability

1 1

i e i
I‘ 1’1 11
t 84 7 4

26. {d) Givun, wos a4 cwsP=a
) fa+f fa~B)
o 2605 | ~—=—= | (a8 | —— | =4d

\ "2 .

~N

fot =B
= 2 cos Ol:us’—-—ﬁjz,‘ (il
X 2
r 1
o |
|« 0= —t ﬁ {(AM of . )
& J
Also, stne -+ sinfi= b
[ &+ '-; la-B)
= Zsin‘—-,—[}icusi fl ]:{,
\ 2 / \ l J
fa - -
= 2«.inﬂtm‘|-—z—l I=b i)
o b
= =
cos 0 sind
R —_—
= _‘—_;_——'— = =yd T b
Vsl 8+ cos” A
Ifrom Egs. 1) and (i)l
— cos V= “""L“—,'
yi = b
b
and §in 0 = —reme=u
va + I
2al
= sinZ0 = — 7“:.
i+ B
i =t
105 20 = “pemme
a+ b

d = b+ 2ab
=singd+ cos20= — ——
a + n
27, () As, rands% = tanly « @5% - X))
_lanx o+ an{ds” - xj _
T1-tonk tan (457 - x) =
| < an x tands” = ) =tan X + tan{4d" - x)
P=tan y o+ a5 % &) + tan s tan@s® - Ay
Z={) +tan x) (1 + 1@an{4s” = a) [}
S0, e wmIM1+ ands) =2
O+ 1ad il + wnd3®) =2
v an 2% 0 + an2i® =2
and )l + 1an g =2
= M1+ tan 19 (Y 4 ran2"),

=(3:2-2....

LUy

22 1mwes) (1 + 1andh?)

22 times)2=72".2=2"
= n=23

28. (o) sin 12" sind875in 54°

1
= - {25in 1251n48%) simha”
2

1 o > ot
= < |tos [~ 367 - cos 607 cus 361
“

29, (b} Ler given four paimnts are A, B, €, 1) which are coplanar if
IAB,BC.CD| =0
AB=3i+5j+(1-4k
BC=-iraj+2&
CD =~3i-bj +3k

i 5 31-n
= -1 4 2l =
-3 -5 K}
WIZ+ 101 =53+ 6+ {1-WE+12=0
= L=1%
30, (1) Given, iC Alﬂ?.\é
-a IC - Al =8
= Cf + AF~2C A=8("C-A=|C|=C)
- Ci+8-2C =8
= C'-2+1=0
= € -1 =0
C=1
= C=1
Now, (A x B) xC| = ||A x B} |C] sin3(°n| .
_1 1A = B| 0]
2
ik
AxB=i2 1 -2
2 11 0
=i0+2) - jl+ L +ki2-1
=A-2j+k
= {AxBl=yi+d¢1=3 i

From Egs. () and (i), we ger
3
(A xB)xC|= -
“

3 P(5 -1,-1) B(3,-4.2)
i: ...... 0 :\
N Sees A== &
\
‘\
l\
‘\
‘\
A(1,-2,1)
AB=4-2j+k
AP =41+ j-Z&
)k
= ABxAP=12 -2 1 =3+8j+10k
4 1 -2 |
. ABxAP H+8j+ 10k
= V= = = ——
w 3
32 () Given. A+ B+C =0
.= ~C =(A+ Bl
= (=C)(-C)=(A + Bi-{A + B)
~ Cf =|A! + Bl + 2(A B}
= il = Al + |Bl' = ZA||B|- cos
= qu=Zdh+ 9+ 2 xSun )
welsere Ahis the angle betwesn A and B
1
= s B= -
¢
) )= x
3
g
)" g X o
d 3
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: F1) (1) " L7 i
33 () Ax) | — = Ax) £ - e ~X 2 ke -2x° X
() fix) l\] u.[\_J (given) R ,[ i?“,xﬂx
3 -
= =+ x"+1 ‘ ' 0 b
Given, f3)=28=3"+1 =-§+ 1 +4~g+‘-(—%+4*8}—(:—2* 1+4
P 3 . 3
= gr=21=3F , L / .
20 13} 7_19 :
= n=73 =4"‘"'*""J=4+:‘=""unnlls
= My e x4 1 J 3 3 3
- [4) = (4)" + 1 =65 39. (a) Given, f{x) =2sinx + sin2x
=5 Fi{x) =2 cos x + 2 cos 2x
= )
3. Ir=wr) <10 For max or min of £(x)
and  XZQ, =(UQ) x9 - = =0
=2 105 =30 x5 = sxt+t2es"x-1=0
= 5=15 -1+ fi+8 1
Also, 3n=988 = Cos x-= kg
= n=35 =45 7 >
35. (c) For 0, we have 8 options, T Geritical foints 18 X = 0K,
For 1, number of options =1+ 24 .., + 8 aln of ~
¢ T y - /
_8:9_, fx) = 0; r[_—]=3?-3,;‘5”J= Ha
e 3 Z 3 2
For 2, we hav 2 .'l';f b t: T =en=0 -
s T Ry0s => Absolute maximum is at :—; and absolute minimum -
8:9410 5m ‘
= -e—0 = (7, Oprions ar—
2.3 4 3
vl ux nid dx %+ 1 f = N \
36. (o) I=I.. — '-.J” — e 40. (o) _\-'=>'Ol"|['—f \#sin"!\—l] soc”! N = cos '-1~]
1+ fan’ x ‘+wn,t 23 {x=1) ix+1)1 x
J S s B R l x=1
2 dx = Yy = oS —- + sin —
;J' SO L X+1) |
Yol 4 oot x / _
¢ [ 1 oA
1 1 3 [sin ' x + cos " x =~
=> el = r — e ¥ -5 |ax 3 .
o T+tman' x 1+ cot'x r dy
= y=-= ~ =0
= 2t = [* e =1 2 ax
gl == ax = —
u 2 41. (a) Step 1 Fill 8 L container,
Ie n Step 2 Pour 4 L water from 9 L container to 4 _
= £ container
toos X — 1) fcos x —e*) . Step 3 Emprv 4 L container ‘ .
3L () lim = e Step 4 Again pour 4 L water [rom 9 L container 1o 5 -
e X . container
[l I ” XL ‘] N )} Step 5 Again empty 4 L contdiner
2! ) 2! \ 1! ) Step 6 Now pour remaining 1 L water from 9 L, contair.--
= lus() — o e N 1o 4 L containet
" " .x 7 ¢ P Step 7 Fll Y L cantainer
l_ + + ] [ - - - + J Step 8 Pour water from 9 L contamer to 4 1. containg
=i b 4! jA 22 3 a4l that it is completely full
X =o ) x" Now, 9 L container contains 6 L water.
[ 1 Y 2 ¥ ) 42. (d) The letters are repeat ONE, TWO, THREE, FOUHK & -
X gt 2 22 g SRR FIVE times respecrively
| 2 a4 | 2 4 S : >
= hm — - - So, the required letter is N
N - 4 ‘3' (b)
which will be tinite non-zero value, f n=3 ’_!;
1
and the value is — B w 31
38. () Y > Y= +2x+4 | B
=5-(x= 1)
. The required diamerer will be diagonal ol white sque =
4 |
by = X2 which will give it's middio poinl as (s contre
y=K " : S0, diameter = 2 inch
I s
(o] (1.0) (2, 0) St 4. (b) If x is the amount of fuel consumed while coming bac«
’ ' i S 1
A A then X+ X+ —=9-
v==X +2x+4=6-(x—1) P
The requiret darea will be = xR
J'l f-%" + 2% v 4) — vx) dx + j"(— X+ 25+ 4) - x| dx 4 2
u 7 ! : LD ; = x=2
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g 1 11
5. b) At x=—; ==-—=>x
11 x 9
9 x+1 2
Al X=— =— >X
11 X 9
]
At R P ok S
Il x-1

46. (o)

51,

ag

(d

{d

tb

. (o)

)

-~

)

ta)

{c

(a

13)

-~

-—

)

{a)

b

-~

Hence, | and 11 are correct

None of the given answer is correct from the avallable
data set.
G=L+10;
gﬁ-_é(a+-‘5]=i[a+i(3+'—ﬂ]
3 4 B, 5 414 3)
=L+1(G+1{B+5]J
5\ 4\ 3
2A 3B A 4G B A
= —E e E g
3 4 4 &5 5 15
G B A
=L+ —=F+—+=
5 20 60
= A=180; B=100, G=110; L =80

which becomes inconsistent

Q

$ | Rank from data, top is bottom

P | is given.

U | Hence, R's rank is 5th in the class.
R

T

If Bhalu alternated berween truth and le, so will
Kachaalu, which wili be a contradiction, as only one
person alternated between truth and lie.

5655y will be divisible by 80, if x =6 and y
= X+y=68

7% and 3% will be factors of
@118 13 a=7-3=147

Odd-even = 0dd, so (x — 2%y will be odd.
Hence, (o) cannot be true.

Required distance

0

1 1 i 1
=16+2|16x~+16x~ + 168 x5+ 16 x-=+...
[ 2 g V4 2 ]

1
16 x
=16+2x—=2=48m
1
==
2

1f dis the distance covered, then if ' hour is the required
thne to catch the train in time, then

and

5
PQSYW is not possible, as S and V cannot be toqether,
If Ris in new office, then as book keeper there is only one
option Q.

Due te R and U in new office T and S cannot be
considered. So, Vand W will be sent a5 new seCretaries.
Sg, there 1s only one option QRUVW

If K goes, T won't go and 1f S went further U und V wan't
go, so we will not ger three secretaries,

(d)

. {a)

61,

-

(a

. (d

-

63. (d)

64. )

65. (d)

If S goes to new office. then team will be S, T. W B Q
only So, R cannot go and W must go
STILL = 98533
+WITHIN 258056
LIMITS 3565849

Total number of hand shakes will be %) =132

From given informations, we gel
Q=U=R-§;
V>U;P=S+13
= Sequence from the lowest 1o the highest is,
TUSQRPY
If x tricycles are there, then there will be
{10 = x) bicycles.

= 3x 4 210 - x) =24
=% x+20=24
= x=4
Let the speed of person and thar of wind be v and v ken/h
respectively.
Then, =4 and =3
0w u+v
= 4u=vj=3u+v)
=5 u=Tv
d
= —— =
]
U
7
. d
= —=3
[Su]
7/
d 24
— -=—
v 7

Hence, required time = 2—74 N=3h25 mnd2 s

Each 1 1n the given senes has the digits on 1t's nght
exceeding by the digits on the Jeft by 1
112;,1121223;
112122312232334
112122312232334122323342
3343445

So, next three numbers is 4, 3. 4

A B c D E
Coast City

The person himself reach the city E from coast A, by
travelling through B, C and D each at 30 km cach in 4
days.
Then, when returting he will spend his rations at D,
where he will be joined by second persan with ration of 2
days. At C, third persan will be there with ration of 3
persons for one day Again at B fourth person will be
there, with rauon of 4 persons for one day, and hance
tinally all 4 will reach the coast A
It y was the total number of eggs and x is the daily sale.
Then, .
Left over egg on day 1 =y - x
Left aver egg onday 2 =2(y - x) - x =2y - 3x
Left over eqq on day 3 =32y - 3x) - x
=ty = 10x
Left over ogg on day 4 =4 (6y - 10x) — ¥
=24y -41x
Lefr over egg or say total egqs on day 5
=524y -41x) = x
120y - 205% = X
120y = 206X
60y = 103y
v =103 and x =60 as mmimum values

=
-
=
=2

T
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66. ()

67. ()

68. (a)

69. ()

1“. (e2)

o

2. (1)

3.

Suyit has told the ruth and Lakers will be the winner, so
automatically remaining two statements become wrong.
U 4 cases lor two digit numbers,
-~
|

9 x 10 =80 cuses

9
U for three digit numbers.
yvarda Gx 10 =% cases A .

I
i

In 1000 there is 3 0%
Total 05 =9+ 904 890+ 3 =142

There is continuanon of series

111 211 233 111 221 312 271 131 122 211 113
4132113113121113122113211311122111¢

3115111213231 321222 111131227 1323
From the hirst information oldest daughter will be 8 o 12
v ola

From ihe next inlormation her age will he 9

(AS Y +4 = 139)

GSCGSCGSC—>CGYESCGS
> G
L e G T

JTCCCSGESSG+CCCSSGGGS
—+CCCSSG G+CCCSSSGGG

Seven moves are shown hare out of which one of them is
trivial Le, six moves are required

15t Gate = My, Birdi detenred Mres. Birla

Zud Game =2 My, Birla deteated Mrs. Tata

i Game = Mrs, Birta deteated Mr, Taia

secand number s the largest Let v be x, then lpsi
number is x/2 and third number s x/3

S0, their average is
X X

N+ W= .
& -5 - 44
K}
1ix
- e = 4
18
44 x 18
= y=——-=72
11
14 farge, 7 medivm and 14 small ships
7 )
> 2% 4 + 1
=]5x - +7x ———~? — + 14 small ships.
105 21 203 (7S
=— + — + 14 =—  smaii ships.
' 2 4

Now, 12 large, 14 modium and 21 small ships

\

(RO
M,£x4+l

7 A

=12x 4 — - + 21 smat! ships
i+ 3

=21+ 21+ 21 =63 small shaps

2004 2
Number of (rips by 4-- shipu =36
20"
&% x 36
4

So. number ol tmips by 83 ships = =24 nps

Ly

M )y QRTIS

Accordmg 1o the given information the order of reading
npewspipen so G passed newspaper to R,

75. ) 1w luggage is v kg, then Rida hos ¥ kg, and et Tos
Qojacg VRg } i

AXCRe vt lugepige
Then, 2y 4+ 3X =860

76. () If x is the number of rows, then if number ot childr

.
78.
79
80,
81

8

If 3x kq extra luggage cost T 3600, then I 5400 wil. o
rost of

8400 . 9
= AN == X
36040 2
4
= yY+3x=—x
2
3
— v=—N
4
= x=10kg
and v=15kg
So, Rahim's luggage in ¢ + 2y = 35 kg

last row is v, thon T
vely+rB+(veB+ .+ lv+3An—-1)) =630
A(x = (x
AV T _(\_ _L.[:’ =630
X =3=23v + 9 =630 (possible, v =207
X=4 =24y + 18 =630 (possible, y = 153
X =5=% 8y + 30 = 830 (possible, y = 120}
x =6 = 6y + 45 =630 (impossible}
Solutions (). Nos 77-80)

. | M C | K D | H
Player ™. | | I O
r X X X 7/ | X
R X v X X X
S X X v X X
U v X X X X
Vv X X X = X v W
~_Game| _ | . ]
S G, Ch Ca Ba TT
Player .| | 0
R B O S Ve T
R X v X X x
b X X X X v
U . X v X x
v v X X X v ]
fa) P
{b) Hydarabad
ta) Badmimon
{a) R and Chonnai
thy MpyKSNel
= M is mother ol K, who s father of N, who is sisret
Hence, N is daughter of K
) Uy RFS#T = K is brother of S who is brothor ¢« =
Hence, 1 is brother of T,
() K#EXWZH#LSY
X is mother of Z, who 15 brother of tather of Y.
Hence, X is real qrandmother of Y
@ KylLeM#N
=> K 15 mothor of sister of brother of N
Hence, K is mother of N,
() MENSL#FKSO
* U= M is brother of Rither of brather of ¥ who iy tathie
Henco, K is nephow of M,
(L) From the given data following 5 1he possibility
Anil Lal Babu Sharma Bhatie Gugta
= Babu has Lal and Sharma as the neighbours
(@) As the warch gains 10 s.n 5 min so it gotns 2 min i,

20 min past 7 O'cleck imphias 10 b 20 min obier 0 4
actual the s 10 b abiead and 20 min 18 the gain
Honee, actual time i~ 7 pm,
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B

8.«
90. i
81, (ta

107. «©)

108. ()

109. (o)

110, )

1. 1)

ratlexion  left hand becomes right hoand and
=0 n otiginal clock hour hand 18 between B
S0 tme is actunlly 8 - 15,

As by
Vieesversa,
and 9 and minute hand is at 3,

Lot the rato bo 21
Lhen 198 4 9w ih00+ 2

~ 6 a Lo
7 vl/,-ﬁ:}_--; =>AT1:372

>
Each question has 5 options, as It can be ansswored as A,
0o, . D or left uiso
Now. all 120 questions will have 5 mdependent options,

Honee, total numbar of régulred ways

=5 x5 x5, %« 50120 times) =5’
1 »oarry
1Mool 100
L 10 () () l l 11
101 O R
V =1, a5 there is an overllow
C w ), a5 carcy out is generated by most significant bis,

Z =0, a5 tho result s nat zero

Hence, 1. 1. O is the hits abraimnaed

A compiter converts o high lovel orogran into law leavesd
Jonguage (Machine languaoae) for execution

+ Sign bit « Sign bit
s
Mantissa Exponent

MAXImuIm numbes
111111818 xZM7TI ot

K x 16 = 2" %16

= Wi should have 12

Tha number of blocks required for the coche InCreasos
fineourly with the size of the mam memeory which 15 the

wddress Hnes and 1 data lines

mann dispdvantage aof direct mappina ol cacha
0organiZanon

Given, ANV =24 where 1 =7 S10

= -'\lllll—?-"l'l—?()

Now J=ATAIN] = AR =S = A0 = j =20

> Alf) = AL20]
which s not daefined because
SO But hare the caondition eouua

HEOS o« Basic Inpart Outpul Sysiem
Irowill b simplhified by Karnaugh map as follows
There are three palrs.,

a8'c’

A rnkos the values from 1 10
s of ovarflow

B'C
Al 1

A_ 1' 1

[]

=» Funcoon is AC'+ BT + A'C
8c' BC B8C BC’
A (17
or =A'C+ARB'+ AC’

Al 1] 1) il

I'scomplamert ol 110 1L=0010
2 complement of 1101 -0010+1=0011
and s complement of 0100 <1011
2% comploment ol 0100 =1011+1=«1100
Addition both 4 hits G011
< 1100
EEE]

Acumen the ability to mako good quick decisions and
Judgements.

Onus responsibility or duty

Inflammable something that is inflammable burns easily
Ignite to make something start to burn

Thus, both these words show similar meaning
somber and mourned are similar 1o each other,
Somber sad, unhappy, sorrowful

Mourned to feel extremely sad bacause someone has
died. C
Savant who has lot of knowledge
Obtuse who does not understand
situations guickly

Thus, these words show almost opposite relationship
Athlete and sluggish show opposite relationship

Athlete vno who takes part In sports

Sluggish not moving as quickly as usual,

Opprobrium very strong criticism of somaething that you
do not approve ol or dishonour

Its opposite-Honour 1o respect

Incessant continuing for a lang time without sStopping in
a way that is annoying

Its opposite

Sporadic not regular or frequent

ore,

explanations  or

100.

161. (a)

0

102. )

703,
104.

(<)
{a)

106.
12, «w

13, (@

114, )

115, (d)

116. (c)
"7z

118. (a) would be-hoping
To fish in troubled waters means ta take advanta

19, o)

La)
(b) Reconcile (o find way ta make

It's ane's comploment = 000 0 0
v 2'5 complomoent =0000 + 1
There is no overfiow.

ool

J@24), (1%, = JyAr + 2r+ 4 =r+3

= 212 Z2r 4 =ir v H w4+ Br+9
= —ar—-56=10

= (r =%¢(r+ \)=||

— 3 r

- 3,8
AS o Cannatl be LLsar=5
2°5 camploment of A = OuO001 10
2% complememt of §=11110110
11110110 =[246),,
=0000GII0 2
A
OO0 O0
1ti1to110
11110110
10111000100 =(1476),,
8. bit representation of, 1111000100 1%
11000100 < (196),,

xrix+n’ )

fix y)
=[x ¥ (x vy}
t{x+y'+yy')]

s {(x+ny)
Fixar =N+ NP+ dxnp+ viT
(by Do Morgun's law)
wxt x4 (Xt (by De Morgan's i)

hy De Mosgorys Iaw)
(b e Mosgarys law)
by Do Morgan's aw)
by De Morgan's lawl

+ Vi
(by Distributivoe law)
(bhy Comploment law)
{hy fedentity law)
Distributive law)

- XX + YL+ (X + -y}
= 4x" (N A -y e
=[x+ x4+ -Kx+ )+ vl
=[x+ xyixty'+ vl
=N+ RPN e !

= TN+ VAN 0]
(x4 v e

- X" NV VN (hwy
)+ Xv+ v+ O (by Camplement law)
- Xy + XYy (hy ldentity and Commutative law)
which represent axclusive NOR
rix.y. A =2z({x=V+(Z+x+ -)‘i(.\ ) (given)
= 2N 4+ V) + 42N J) + (s thy e Morgan's baw)
- XY YEe ZX + XV {hy Distribunve law)
-y o2y + Ny - 2KV)
= yzr+ 22X + (xXy + z) (xy + X¥) (O Distributive law)

“yr b o2 ixv 4+ A1 by Comploment law)
Ny o+ 2y i+ 1)
=N Xy 2 2]

= xXy+»r
Z) =~ Xy 4+ 2

- 2%
(hy Absorption law)
=Ny + ~(n+ { = Xy + 2

FI%.y

=

fix, y.2)= xy+z
It requiras two gates,

laas, holiafs, rvsals ore

Indivisible not able to bhe separated or hroken inro poar s

Exasperate to make someone extromely 700 Wil 4

impartient

Its similar meaning Irritate

Intmical unfriendly. Its similar meaning,
Antagonistic disliking someone or behaving
unfriendly way.

According 1o author, after the revelation, g
documents praviously accepted ideas were pr
only partially correct and some narrative are
be completely wrong

Statement [ is wrong as after revelation of go
documents the crisis bacomes clear, it was n
mystery,

il 1

shaky or unstabla situation.

e.g.. Arun is fishing in troubled waters by buying mars
shares of that company

120. (¢} Here ‘leg’ will be used instead of 'legs’ as legs is plura

where 'one’ should be f(ollowed by singular noun.

. ”P"I
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